The condensed income statement and balance sheet for Indelay, Inc.’s  software plant is provided in the table below:
[image: image1.wmf]Revenue

$169.98

Net working capital

$14.16

Raw materials cost

37.44

    

 

Operating cost

42.18

    

 

Investment in plant and equipment

207.99

Depreciation

9.00

      

 

Less accumulated depreciation

42.02

Pretax income

81.36

    

 

Net plant and equipment

165.97

Tax at 35%

28.48

    

 

Net Income

52.88

$  

 

Total Assets

$180.13

Income Statement

(figures in millions of dollars) 

Assets

(December 31, 2002)


a. Calculate the plant’s EVA.  Assume the cost of capital is 14 percent.

b. As the table above shows, the plant is carried on Indelay’s books at $165.97 million.  However, it is a modern plant, and could be sold to another software company for $250 million.  How should this fact change your calculation of EVA?

